S®HIs — 4 (UNIT -4)
AT 3 — By

Chapter 3 — Agriculture

(TUE- 37) TS T
(Section-A) Objective Questions

-1 VR H Falferen 9 o fohe g § % d1S Sl g -

Question-1 In which season are crops sown on most of the land in India?

() Tli® (a) Kharif
() @it (b) Rabi
CQEIEH (c) Zaid
() &+l g § T @A (d) Equally in all seasons
TH-2 TTH € HhIH BRI il HEd © ?
Question-2 Which of these is a Kharif crop?
(37) ﬁ_&: (a) Wheat
() =T (b) Chickpea
(¥) Gt (c) Melon
(@) a (d) Paddy
-3 $TH € S A ol FEA 81 © 2
Question-3 Which of these is not a pulse crop?
(37) =T (a) Chickpea
() AT (b) Pigeon pea
CIEISE (c) Millet (Bajra)
(%) 78 (d) Lentil
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YH-4 A o ST B hiH TSI I & ?

Question-4 Which state is first in rice production?

(37) gty st (a) West Bengal
(&) BiETE (b) Chhattisgarh
€3] AT (c¢) Uttar Pradesh
@) foer (d) Bihar
55 AR fohd waet hY @t Y forg uftrg 82
Question-5 Maharashtra is famous for the cultivation of which crop?
(3) g+ (a) Paddy
(T) 9E (b) Cotton
CHETEN (c) Coffee
(8) S (d) Jute
-6 ¥ ol forart STt 6y et & St 82
Question-6 What portion of India's population is associated with agricultural activities?
(37)1/3 |11 (a) 1/3 part
(s1) 2/3 91T (b) 2/3 part
(H)1/4 |11 (c) 1/4 part
(%) 1/5 911 (d) 1/5 part
T-7 TR shifd & gad 31T HH g1 -
Question-7 The crop that benefited the most from the Green Revolution is -
(37) T (a) Wheat
(sT) SeR T (b) Sorghum
GEISRE (c) Millet (Bajra)
(3) g9 hT (d) Paddy
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(Tus-a) Tww Tamt Y gid ik -
(Section-B) Fill in the blanks:

1 ol ol wHe o e G

The main food grain of the Rabi crop is

2 e VI 36T T | HE ST ScaTa He|
Due to the shortage of ...........ccceeeeeee. land, crop production will decrease.
3 B oo, T I T ST |
Chhattisgarh is called the bowl of ......................
4 IRATFHT ..o Wfer 1 foream g = 8
Expansion of ...........ccceeeeene. land is now not possible in India.
5 TG FEA e g H &l 8l

SR ,2FN ,39W, 4%, 5™

Answers 1. Wheat, 2. Agriculture, 3. Paddy, 4. Agriculture, 5. Summer

(TUE- T) Sfra ey Jfeu -

(Section-C) Match the following:

1 e o7 sgaer sht SR

Base of the Indian economy

2 o R

Rabi crops
3 IAETHIME

Increase in production
4 S wHA

Zaid crops

3¢ 1 (F), 2 (3), 3 (@), 4 (3)

Answers: 1 (c), 2 (d), 3 (b), 4 (a)
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(3) T, TS

(a) Cucumber, Watermelon
(<) BT shifer

(b) Green Revolution

(®) Ff¥

(c) Agriculture

(@) T ST

(d) Wheat and Barley



Ftf oTg 3T T4 - (2 3Fh)

Very Short Answers Questions - (2 Marks)

T | TeTohd G Aok TS o6 oI goTIomd €1 Hehd &2

Q. 1: What can be the bad effects of excessive irrigation by tubewells?
T4 2 Y IeUTET ST o ToTT - Tk it Tkt 22

Q. 2: What can be done to increase agricultural production?

ST 3. JCATEH H g, 31 T SEEAT o HTY HEAT, T T 82

Q. 3: Why is it necessary to compare the increase in production with the population?

T 4 TTHT F T3 ST ST SeaTe BT 27

Q. 4: Which crops are produced during the summer?

T 5 STeh SATEUTH =TS o FT-T |19 SUcTed?

Q. 5: What are the irrigation resources available around you?
T 6 T ST g7 &1 /AT A 2

Q. 6: What is meant by sown area?

11 7 ToRET shl SE ST Sferd Hed TH &1 §eh $%eh [oTq 3T fohaT ST =ITfee?
Q. 7: What should be done to ensure farmers get a fair price for their crops?
e 3T O (5 3h)

Long Answer Questions (5 marks)

51 T STTSH o ScaTa B T B oh T ST 22
Q. 1: What are the reasons for the decrease in the production of coarse grains?

-2 | e H BHA TEd § SETd o 1 THTE US? 3T, Tareed, USHIR, AfH, 3ot &Hd
HTfe STl =l LA | T@d g FHATEY

Q. 2: What effects did the change in crop patterns have in Sankara village? Explain,

considering factors such as health, employment, soil, fertilizing capacity, etc.
TH-3. WA 1Y o {F IcaTaehdT o HIRUT ol [eARaT]

Q. 3: Write about the reasons for the low productivity of Indian agriculture.

TF-4, GO, T T TS FE] 1 foawor 3emewr gieq A

Q. 4: Give description of Kharif, Rabi and Zaid crops with example.
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